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randoml.py random2.py

import random import random

kuji = [P K&F’,’ &, &, X’] print (random.randint(1,6))
message = random.choice(kuji)
print (message)
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random3.py random4.py

for i in range(10): import random
print (i) for i in range(10):
print(random.randint(1,6))
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s randomb5.py ~

import random

kuji = K&, &, NS, K]
message = random.choice(kuji)
print (message)

if message == ’ [X|’:
print(’ Rr<117)
else:
print(’ B o7t !l )
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turtleO.py turtlel.py
import turtle from turtle import *
turtle.shape(’turtle’) shape (’turtle’)
turtle.forward(200) forward (200)
turtle.right (90) right (90)
turtle.done() done ()
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turtle2.py

from turtle import *

shape (’turtle’)

for i in range(5):
forward (200)
right (144)

done ()
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from turtle import * from turtle import *
import random import random
shape (’turtle’)
shape(’turtle’) color(’red’)
for i in range(200): stamp ()
angle = random.randint(-90,90) color(’green’)
forward (10) while True:
right (angle) forward(10)
done () right (random.choice([-90,0,90]1))
J if distance(0,0) < 0.1:
break
done ()
J
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import socket
import threading
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port = 30000

def talk(conn,addr):
print (’Connected from {}’.format(addr))

conn.sendall(’ ZRICME > T ! ?.encode())
data = conn.recv(1024)
message = ’ [{}] o> TEWVWFL7AN !’ .format(data.decode())

conn.sendall (message.encode())
conn.close()

with socket.socket(socket.AF_INET, socket.SOCK_STREAM) as s:
s.bind((host, port))
s.listen(10)
while True:
conn, addr = s.accept()
threading.Thread(target=talk, args=(conn,addr)).start()
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import socket
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with socket.socket(socket.AF_INET, socket.SOCK_STREAM) as s:

s.connect ((host, port))

message = s.recv(1024)

print (message.decode())

message = input()

s.sendall (message.encode())

message = s.recv(1024)

print (message.decode())
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s tkl.py N

import tkinter as tk

root = tk.Tk()
root.geometry(’200x100°)

label = tk.Label(text=’LABEL’)
button = tk.Button(text = ’PUSH’)

label.pack()
button.pack()

tk.mainloop()
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s tk2.py ~

import tkinter as tk

def greeting():
label.configure(text=’ TAICHIE?)

root = tk.Tk()

root.geometry(’200x100’)

label = tk.Label(text=’LABEL’)

button = tk.Button(text = ’PUSH’, command = greeting)

label.pack()
button.pack()

tk.mainloop()
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import tkinter as tk
import random

def greeting():
kqu = [7 j(lj::’,, %:7,7 /J\:EJ’) I_l;]
label.configure(text=random.choice (kuji))
root = tk.Tk()
root.geometry(’200x100°)

label = tk.Label(text=’LABEL’)
button = tk.Button(text = ’PUSH’, command = greeting)

label.pack()
button.pack()

tk.mainloop()




